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Mathematics

下のようにグラフ上の 2 点が与えられている。それぞれの 1 次関数の式を求めよ。 

(1) (1,1)  (2,2)

(2) (3,−1)  (5,9)

(3) (2,1)  (1,−2)

(4) (1,3)  (5,−5)

(5) (1,1)  (3,2)

(6) (2,3)  (5,2)

傾 き 2 - 1
= 1

∴ y = x
2 - 1

Y = xt a∴

1 = 1 t a : . G = 0

傾 き '
.
G= - 16

9 - [- 1)
= 55

5 . 3
∴ Y = 5x - 16

∴ y = 5x t a
- ) = 15 t a

傾 き ∴ G = - 5
- (- 2 )

= 3 ∴ Y = 3x - 52 - 1

∴ J = 3 xt a

1 = 6 t a

化傾 き '
.
G = 5

- 5 - 3
= - 2 ∴ Y = - 2x + 55 . 1

∴ y = - 2xt a

3 = -2 t a
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∴ y = Ixtea ∴ y = I ,x 十
1

Z

∴ y = - 3 xt a
∴ a= 31
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3 =
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∴y = - 3 ,c t 31
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